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1A~10A|1B~108|1B~108|1B~108 SEEEAD SRTHEAM
B 2,155 2,152 21 14 -3 (-0.1) -7 (-33.3)
SEX 591 610 3 1 19 (3.2) -2 (-66.7)
B & 195 203 0 0 8 (4.1) 0 (0.0)
= 51 61 0 0 10 (19.6) 0 (0.0)
LEHS, 110 99 1 1 -11  (-10.0) 0 (0.0)
BEX 284 298 10 7 14 (4.9) -3 (-30.0)
XK 70 75 6 4 5 (7.1) -2 (-33.3)
EE 126 134 4 3 8 (6.3) -1 (=25.0)
| Z Dt 88 89 0 0 1 (1.1) 0 (0.0)
IS 283 300 2 1 17 (6.0) -1 (-50.0)
[ERREWELE 253 272 1 1 19 (7.5) 0 (0.0)
EYERIRE 24 27 0 1 3 (125) 1
ENE 31 38 0 1 7  (22.6) 1
BEKEE 95 87 1 2 -8 (-8.4) 1 (100.0)
HES 311 269 0 0 -42 (-13.5) 0 (0.0)
[nasg 240 207 0 0 -33  (-13.8) 0 (0.0)
HEEAIEER 94 88 0 0 -6 (-6.4) 0 (0.0)
ZNDih 442 435 5 1 -7 (-1.6) -4 (-80.0)
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FASEM (REABLLE) TEN =
= 15 5 2714 284 2714 284 @ ®
1B~128|18~128|1A~128|18~128| FTHBEHA® A
= 2,870 2,845 33 26 -25 (-0.9) -7 (-21.2)
HEXE 813 782 2 4 -31  (-3.8) 2 (100.0)
B R 232 247 1 0 15 (6.5) -1 (-100.0)
=2 84 70 0 0 -14  (-16.7) 0 (0.0)
LEES 141 145 0 1 4 (2.8) 1
BEE 350 364 12 11 14 (4.0) -1 (-8.3)
X 82 80 5 6 -2 (=24) 1 (20.0)
BE 167 165 3 5 -2 (-1.2) 2 (66.7)
ZF Dt 101 119 4 0 18 (17.8) -4 (-100.0)
BRI EE 389 369 7 2 -20 (-5.1) -5 (-71.4)
e yEty 346 332 6 1 14 (-4.0) -5 (-83.3)
EYERIRE 28 26 1 0 -2 (-1.1) -1 (-100.0)
ENE 49 47 2 0 -2 (-4.1) -2 (=100.0)
BREEKEE 153 119 1 1 -34  (-22.2) 0 (0.0)
[ 379 419 5 3 40  (10.6) -2 (-40.0)
s 306 318 4 3 12 (3.9) -1 (-25.0)
HE1EU TR 131 138 0 0 7 (5.3) 0 (0.0)
Z D1 578 581 3 5 3 (0.5) 2 (66.7)




